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Задание №L2_16

Вы  услышите  диалог. Определите,  какие  из  приведённых  утверждений  А–G  соответствуют
содержанию текста (1 – True), какие не соответствуют (2 – False) и о чём в тексте не сказано, то
есть  на  основании  текста  нельзя  дать  ни  положительного,  ни  отрицательного  ответа
(3  – Not stated).  Занесите номер выбранного Вами варианта ответа в таблицу. Вы услышите
запись дважды. 

 A. Jim has a regular job with Greenpeace.
 B. Jim says that people made the shore dirty while having fun.
 C. There were boys only in Jim’s team.
 D. Lisa doesn’t know how to become a volunteer.
 E. Jim joined Greenpeace because of his interests.
 F. You have to be older than 14 to become a volunteer.
 G. Lisa will wait till she’s 15 to contact a volunteer organization.

Ответ:
Утверждение A B C D E F G
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